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Use	the	words	below	to	complete	the	text.	
	
	

Charge				Defence			Commit				Arrest					Trial							Jury				Verdict						Evidence					
Sentence				Witnesses						Prosecution			Innocent			Guilty		

	
	

In	the	UK	when	a	person	is	believed	to	have	1__________ted	a	crime,	e.g.	

murder,	the	police	will	look	for	that	person.	If	they	catch	him	they	will	

2___________	him.		After	the	person	is	2__________ed	he	may	be	3___________d	

with	1__________ting	a	crime,	e.g.	murder.	Then	there	will	be	a	4________	in	a	

court.	In	a	4________	there	are	two	sets	of	lawyers.	The	5___________	lawyer	will	

try	to	prove	that	the	defendant	is	6____________.	On	the	other	hand,	the	

7___________	lawyer	will	try	to	prove	the	defendant	is	8___________.	Both	sides	

will	use	9________	and	10___________	to	support	their	argument.	Usually	a	

11__________	of	twelve	persons	will	decide	the	12___________.		If	the	defendant	

is	found	6____________	the	judge	will	then	decide	the	13___________.	
	




